Al 2 0 &
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Ab e E A A

SN REXNAD
Y SM2 RS(SYHYSL/SY - 5E)
oo RE(BRE (SHol: )
A -2 - HA(ZAH) - MR - BES Ol &FoH I HlwsS2
SEXAD 11,032,654 9,933,572 1,099,082
= 118,440 118,440 0
p] 12,000 12,000 0
= 1,667,570 1,571,631 95,939
Al 9,234,644 8,231,501 1,008, 143
SN2 SE(SYHYM/ Y - S&) 3,198,914 3,118,914 80,000
2 84,810 84,810 0
= 683,978 688,978 0
Al 2,425,126 2,345,126 80,000
S 3,198,914 3,118,914 80,000
= 84,810 84,810 0
= 688,978 688,978 0
Al 2,425,126 2,345,126 80,000
SASMI RSHE 2 262,425 230,425 30,000
401 AI28IZ ST 30,000 0 30,000
01 Al=g| 30,000 0 30,000
OLFSUSREHE AlLS SK 2=
30,000,0002 * 14! 30,000 0 30,000
SSMZ2 RS2 N 250,000 200,000 50,000
301 YBEFS 250,000 200,000 50,000
12 JIEFR A3 250,000 200,000 50,000
OYFHIHZIIQIAUAT At XIS
213 200,000,002 200,000 150,000 50,000
2HSABR (LB DY Y/ V) 1,009,000 949,000 60,000
= 78,900 68,900 10,000
Al 930, 100 880, 100 50,000
2HSHDE 1,009,000 949,000 60,000
= 78,900 68,900 10,000
Al 930, 100 880, 100 50,000
SSMZ BRI 576,000 526,000 50,000
301 YBBFI 160,000 110,000 50,000
12 JIEFR A3 150,000 100,000 50,000
OYF sSHE 2523 N (SES 508)
A 20,000,008 * 1551 * 50/100 150,000 100,000 50,000
(E)=AB2HABEX 23,000 13,000 10,000
= 13,900 3,900 10,000
Al 9,100 9,100 0
201 LBr2H| 10,000 0 10,000
= 10,000 0 10,000
01 At 22l 10,000 0 10,000
OLFA 24 SSHU2 HANZRE SHEs
(&LARRIHI) 10,000,002 * 14! 10,000 0 10,000
= 10,000 0 10,000
E20PIE (SYHYHL/ 5L - 5&) 1,786,936 1,406,020 380,916




SN REXD
Ha: EP0PIY(SYHYSN/ S - SE)
29 sS4= 8% (SHol: )
SA - B - SR(FH) - MRAY - BES Oll 2k JIEA Hws2
= 5,050 5,250 0
Al 1,781,686 1,400,770 380,916
ssug &8 1,786,936 1,406,020 380,916
< 5,250 5,250 0
Al 1,781,686 1,400,770 380,916
SRR 267,916 109,000 158,916
101 Q1218 82,916 0 82,916
USRI EEU=T-ES 82,916 0 82,916
OYZAl BESHSBOELIY) 2P 24t
74,0002 * 14 * 28 * 92 13,616 0 13,616
OUIZAl IFOIE YF SSH2 BT 2
Q2 A& 110,002 * 94 * 1 + 70 69,300 0 69,300
201 UBr2y| 163,000 87,000 76,000
01 AF= a2l 163,000 87,000 76,000
OUZAl HEDIE YF SSHS NBHE
HAIR X4 60,000 60,000
~HAIZE 7Y 100,000 * 255 * 1004 25,000 25,000
—E2sp0 X
50,0002 * 107 * 1042 5,000 0 5,000
—mEg I 7L
500,0002! * 441 % 102 20,000 0 20,000
—AEETY P
1,002 * 1,0000H * 109H 0,000 0 10,000
OUSAl HHEOIE gF SSU2 NBHY 2
16,000 0 16,000
—AXE(ZH, 2B, X4 S)
100,002 * 94! * 10JHA 9,000 0 9,000
—E40 U EPS(ZON 28)
50,0002 * 64 * 109H4 3,000 0 3,000
—HE8E(MA L A4 S)
50,0002 * 841 * 10H4 4,000 0 4,000
ssue &8 261,600 180,600 81,000
201 Yr2y| 55,600 44,600 11,000
01 Ak 22ly| 25,000 14,000 11,000
OsSH2 E2ZIE 4 ABE X2
A3 10,000,0002 10,000 9,000 1,000
OHIIIE ¥F sSH2 BESBA 220D
0,000,002 * 141 10,000 0 10,000
207 AN | 70,000 0 70,000
01 Simgy| 70,000 0 70,000
OXNYENELDIZ LY BIZLAE oing
70,000,000 * 14! 70,000 0 70,000
B 22 810,000 800,000 10,000
301 YBPFS 410,000 400,000 10,000




2N SSXIRD
M SEIPIE(soLsi/ s - s&)
Chel: ssENe g8 (B2 &™)
2M -3 .- H2(3H) - A - LS Ol &k J| &N Hns2
12 J|EtB A= 410,000 400,000 10,000
OYFAIEERS &R Y T224
5,000,000 23| 10,000 0 10,000
PAEZSA2 XKALS 79,000 113,000 234,000
301 LEtEAZ 0 13,000 213,000
12 J|Et2 A Z 0 13,000 213,000
OUEAl SFEt2 M2 THIHE 214 X
(BXE 50%) (22H A1) 38 02 0 13,000 13,000
307 120 A 79,000 89,500 210,500
02 DIZIHAAIHE X 0 10,500 210,500
OUTAl S5t Mo 22 X
(BXE 50%) (22H A1) 2 02 0 10,500 210,500
402 RIZEXHE0|H 0 10,500 210,500
01 SIZIRH2 AL B (KHHITH ) 0 10,500 210,500
OUTAl S5 M2 THIHE 2+ &R
(BXE 50%) (S8 AH) 2 02 0 10,500 210,500
Olat AHIEE REAY 165,000 0 165,000
308 XIXISHISOIE 165,000 0 165,000
11 2 2SO AL X 2 EF AL 165,000 0 165,000
OPQlah AHISX REAIY
165,000,000& * 14l 165,000 0 165,000
SAZAMASH (S5 - 55) 1,959,922 1,530,223 429,699
= 33,630 33,630 0
[= 300,562 214,623 85,939
Al 1,625,730 1,281,970 343,760
=2 1,959,922 1,530,223 429,699
= 33,630 33,630 0
[= 300,562 214,623 85,939
Al 1,625,730 1,281,970 343,760
(D) F=sasSstngal i 1,452,316 1,022,617 429,699
[= 290,473 204,534 85,939
Al 1,161,843 818,083 343,760
307 IZH0| A 1,414,620 996,027 418,593
[= 282,924 199,203 83,721
Al 1,131,696 796,824 334,872
02 BIZIHAAII B X 1,414,620 996,027 418,593
OFEASAIS 8NZA A (SSAS)
A 1,414,620,000 1,414,620 996,027 418,593
[= 282,924 199,203 83,721
Al 1,131,696 796,824 334,872
308 AIXISHHSOIA 37,696 26,590 11,106
[ 7,549 5,331 2,218
Al 30, 147 21,259 8,888
08 WRIIZHICHEHE X 37,696 26,590 11,106
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